FENC SZPTRF BEARESIRE

SZPTRY HEMB AT

O R
O FEmiFR

- PEERSIHAE;

- EEREHONBLER. Rk,
IS HE KT I ;

- ZHFER EEMAT EERE;

. ZZHhITFE6mm-50mm,

©iTERE

A5IMAB REERT REXY REMR SHRB ZMTiE — HBETERO

SZPT: SZPT#3%I

02: @2 16:

04: @4 20: @20 . A8 M8x10 @
06: @6 25: @25 ﬁ@f %}ﬁﬁﬁqﬁkﬁ 10 ° ° ° A10 M10x 1.0 °
08: @8 32: @32 J % %;1@% % 15 ° . . A14 M14x1.0 ®
10: @10 40: @40 3l sh=zs 22 o
13: @13 50: @50 = 7‘(%%7{(%%@ 30 [ [
m % T EIRIE 40 [}
K B SEMIHER
ST axam E S0 L U
SibEa
2@ =%kwIh.

RE omaxm o B&E& 0 %R SYEEKOAN 02-08 010~032 040~050
B3

u TR 02 04 06 08 ©10 P13 P16 P20 P25 @32 G40 G50 M3X0.5 °
C  EWEH 310 @13 @16 B20 @25 @32 G40 @50 B5 2 M5 0.8 ° ° °
D i3 @10 @16 @25 @40 Bo1 & Rc1/8 °
B REWR @6 @8 10 @13 @16 @20 @25 @32 G40 @50 N4 GARRE °

N6 %4 06 B#E ® ®

U4 § PAREEE °

us =~ 06 REFEE ® ®
MEER TR  TRAX o4 % o4 ° °
22~28 0.8N 1.2N _ 26 % e L L4
310~@32 1.0N 3.0N gee 28 E ®
@40~350 2.0N 5.0N

T SZPTRIIHE MBI ESRE, WAHZ010, FTRE, THEER, FTEER, 4175820, E=EEO . SMELMS5x0.8;
REEFBYLERZEMI10X1.0, HiTHHA: SZPTI0UNK20-B5-A10

RS SZP T 13 UN K10 - 06 - A10
D REEE EERy FRiE BOERE
2 10,16 1 A8
3 20, 32 2 A0
4 40,50 g 3 A4
DEBE SZP T 2 - B5 HRiE REEHRE
1 02, 08
SZP B 2 - K10 - 06 ’
@x%% 2 10, 16
3 20, 32
4 40, 50

- + D+ SZP T 2 - K10 - 06 - A0



SZPTR5 wFERARAEZNE

RS
HE0: HEL
7 405
20 15
llllllllIIIIIIIIIIIII“IIIIII
Afaxtis | AL SZPT1J6-B3-A8 M3x0.5
SZPT1J6-B5-A8 M5x0.8 34 21 8 5 15
SZPT1J10-B3-A8 M3x0.5 65 54 6 3
SZPT1J10-B5-A8 M5x0.8 67 54 8 5
I SZPT1J15-B3-A8 M3x05 70 59 6 3
|| 2x@25 SZPT1J15-B5-A8 M5x0.8 72 59 8 5 45
s SZPT1J25-B3-A8 M3x05 80 69 6 3
= SZPT1J25-B5-A8 M5x0.8 82 69 8 5
G
14
BEFEO: PREELE
lllllllllllllllllllllllllllll
BEER SZPT1J6-04-A8  47.9 4 .5
SZPT1J6-06-A8  48.7 21 6 1o
SZPT1J10-04-A8  80.9 54 4 8
SZPT1J10-06-A8 81.7 54 6 10
SZPT1J15-04-A8  85.9 59 4 8
SZPT1J15-06-A8  86.7 59 6 10 45
SZPT1J25-04-A8  95.9 69 4 8
SZPT1J25-06-A8  96.7 69 6 10

nEO: @HL
IIIIIIIIIIIIIIIIIIIIIIIIIIII

SZPT1J6-N4-A8

SZPT1J6-U4-A8 35 21 3.4 15
SZPT1J10-N4-A8 68 54 2.8
SZPT1J10-U4-A8 68 54 3.4
SZPT1J15-N4-A8 73 59 2.8 45
SZPT1J15-U4-A8 73 59 3.4
SZPT1J25-N4-A8 83 69 2.8
SZPT1J25-U4-A8 83 69 3.4
HFEO: HEY
7 40.5
SZPTOU1J6-B3-A8 44 SZPT1J6-B3-A8
T ] SZPTOU[1J6-B5-A8 46 SZPT1J6-B5-A8
48 i 2 | SZPTOUJ10-B3-A8 77 SZPT1J10-B3-A8
RS SZPTOUJ10-B5-A8 79 SZPT1J10-B5-A8
< | I E—— SZPTOU[1J15-B3-A8 82 SZPT1J15-B3-A8
M8 x 1:@ J—LL‘Z’Z'S SZPTOU[1J15-B5-A8 84 SZPT1J15-B5-A8
I
‘ ! SZPTOUL1J25-B3-A8 92 SZPT1J25-B3-A8
3 Ermﬂ SZPTOUL1J25-B5-A8 94 SZPT1J25-B5-A8




5 E-MC’

SZPTZR%I ¥

BExO: REELE

d
s

—.

SZPTOU[JJ6-04-A8
SZPTOU[]J6-06-A8
SZPTOU[JJ10-04-A8
SZPTOU[JJ10-06-A8
SZPTOU[J15-04-A8
SZPTOU[JJ15-06-A8
SZPTOU[J25-04-A8
SZPTOU[J25-06-A8

SZPTOU[JJ6-N4-A8

SZPTOU[J6-UB-A8

SZPTOU[JJ10-N4-A8
SZPTOU[JJ10-U6-A8
SZPTOU[J15-N4-A8
SZPTOU[JJ15-U6-A8
SZPTOU[JJ25-N4-A8
SZPTOU[J25-U6-A8

SZPTOB[1J6-B3-A8

SZPTOB[]J6-B5-A8

SZPTOB[1J10-B3-A8
SZPTOB[1J10-B5-A8
SZPTOB[1J15-B3-A8
SZPTOB[]J15-B5-A8
SZPTOB[1J25-B3-A8
SZPTOB[1J25-B5-A8

SZPTOB[]J6-04-A8

SZPTOB[1J6-06-A8

SZPTOB[]J10-04-A8
SZPTOB[1J10-06-A8
SZPTOBLIJ15-04-A8
SZPTOB[1J15-06-A8
SZPTOB[1J25-04-A8
SZPTOB[1J25-06-A8

47
47
80
80
85
85
95
95

44
46
77
79
82
84
92
94

PR PR RSN

SZPT1J6-04-A8
SZPT1J6-06-A8
SZPT1J10-04-A8
SZPT1J10-06-A8
SZPT1J15-04-A8
SZPT1J15-06-A8
SZPT1J25-04-A8
SZPT1J25-06-A8

SZPT1J6-N4-A8

SZPT1J6-U4-A8

SZPT1J10-N4-A8
SZPT1J10-U4-A8
SZPT1J15-N4-A8
SZPT1J15-U4-A8
SZPT1J25-N4-A8
SZPT1J25-U4-A8

SZPT1J6-B3-A8

SZPT1J6-B5-A8

SZPT1J10-B3-A8
SZPT1J10-B5-A8
SZPT1J15-B3-A8
SZPT1J15-B5-A8
SZPT1J25-B3-A8
SZPT1J25-B5-A8

SZPT1J6-04-A8

SZPT1J6-06-A8

SZPT1J10-04-A8
SZPT1J10-06-A8
SZPT1J15-04-A8
SZPT1J15-06-A8
SZPT1J25-04-A8
SZPT1J25-06-A8



SZPTR5 wFERARAEZNE

B0 Afal

SZPTOB[]J6-N4-A8 44 SZPT1J6-N4-A8

SZPTOBL[IJ6-U4-A8 46 SZPT1J6-U4-A8

SZPTOB[1J10-N4-A8 77 SZPT1J10-N4-A8
SZPTOB[]J10-U4-A8 79 SZPT1J10-U4-A8
SZPTOBLIJ15-N4-A8 82 SZPT1J15-N4-A8
SZPTOB[1J15-U4-A8 84 SZPT1J15-U4-A8
SZPTOB[]J25-N4-A8 92 SZPT1J25-N4-A8
SZPTOBL[J25-U4-A8 94 SZPT1J25-U4-A8

SZPB2J10-B5

SZPB2J20-B5 72 85 51
l SZPB2J30-B5 82 95
1 SZPB2J40-B5 118 131 77
! SZPB2J50-B5 128 141
I
|
M10 x 1 f
L]
< i N
@25 || (t=0.5)
M5x0.8

HEO: REmkn
IIIIIIIIIIIIIIIIIIIIIIIIIIIII

SZPB2J10-04 60.9 4 03
SZPB2J10-06 34 61.7 6 10
SZPB2J20-04 72 98.9 4 8
SZPB2J20-06 72 99.7 6 10 51
SZPB2J30-04 82 108.9 4 8
SZPB2J30-06 82 109.7 6 10
SZPB2J40-04 118 144.9 4 8
SZPB2J40-06 118 145.7 6 10 77
SZPB2J50-04 128 154.9 4 8
SZPB2J50-06 128 1565.7 6 10

HEO: @8R
IIIIIIIIIIIIIIIIIIIIIIIIIIII

SZPB2J10-N6

SZPB2J10-U6 34 49 4 95 23
SZPB2J20-N6 72 87 4.5
SZPB2J20-U6 72 87 4.95 51
SZPB2J30-N6 82 97 4.5
SZPB2J30-U6 82 e 4.95
SZPB2J40-N6 118 133 4.5
SZPB2J40-U6 118 133 4.95 77
SZPB2J50-N6 128 143 4.5

SZPB2J50-U6 128 143 4.95




FENC SZPTRF BEARESIRE

SZPTOULIJ10-B5-A10 68.5 68.5 69 70.5 70.5 71 SZPB2J10-B5
SZPTOU[]J20-B5-A10 106.5 106.5 107 108.5 108.5 109 SZPB2J20-B5
SZPTOU[]J30-B5-A10 116.5 116.5 117 118.5 118.5 119 SZPB2J30-B5
SZPTOULIJ40-B5-A10 152.5 152.5 153 154.5 154.5 155 SZPB2J40-B5
SZPTOU[J50-B5-A10 162.5 162.5 163 164.5 164.5 165 SZPB2J50-B5

&AL AR SZPT2-B5 SZPT3-B5
H=O: R
. omaa
10 [ 13 (16 (20 |25 32

SZPTOU[JJ10-04-A10 82.5 82.5 83 84.5 84.5 85 SZPB2J10-04
SZPTOUL]J10-06-A10 83.5 83.5 84 85.5 85.5 86 SZPB2J10-06
SZPTOU[]J20-04-A10 120.5 120.5 121 122.5 122.5 123 SZPB2J20-04
SZPTOU[JJ20-06-A10 121.5 121.5 122 123.5 123.5 124 SZPB2J20-06
SZPTOU[]J30-04-A10 130.5 130.5 131 132.5 132.5 133 SZPB2J30-04
SZPTOU[]J30-06-A10 131.5 131.5 132 133.5 133.5 134 SZPB2J30-06
SZPTOU[JJ40-04-A10 166.5 166.5 167 168.5 168.5 169 SZPB2J40-04
SZPTOU[]J40-06-A10 167.5 167.5 168 169.5 169.5 170 SZPB2J40-06
SZPTOU[]J50-04-A10 176.5 176.51747178.5 178.5 179 SZPB2J50-04
SZPTOU[]J50-06-A10 177.5 177.5 177 179.5 179.5 180 SZPB2J50-06
EEL R SZPT2-B5 SZPT3-B5

HEO: FRE

SZPTOU[JJ10-N6-A10 70.5 70.5 71 72.5 72.5 73 SZPB2J10-N6
SZPTOU[JJ10-UB-A10 70.5 70.5 71 72.5 72.5 73 SZPB2J10-U6
SZPTOU[]J20-N6-A10 108.5 108.5 109 110.5 110.5 111 SZPB2J20-N6
SZPTOU[]J20-UB-A10 108.5 108.5 109 110.5 110.5 111 SZPB2J20-U6
= SZPTOUL]J30-N6-A10 118.5 118.5 119 120.5 120.5 121 SZPB2J30-N6
IL SZPTOU[JJ30-UB-A10 118.5 118.5 119 120.5 120.5 121 SZPB2J30-U6
SZPTOU[]J40-N6-A10 154.5 154.5 155 156.5 156.5 157 SZPB2J40-N6

S~ SZPTOU[]J40-UB-A10 154.5 154.5 155 156.5 156.5 157 SZPB2J40-U6
. SZPTOU[]J50-N6-A10 164.5 164.5 165 166.5 166.5 167 SZPB2J50-N6
SZPTOU[]J50-UB-A10 164.5 164.5 165 166.5 166.5 167 SZPB2J50-U6

B SZPT2-B5 SZPT3-B5

e

7

RN (C) Omed: 10, 13, 16, 20, 25, 32

HEEO: Ry

SZPTOC[1J10-B5-A10 68.5 68.5 69 70.5 70.5 71 SZPB2J10-B5

SZPTOC[]J20-B5-A10 106.5 106.5 107 108.5 108.5 109 SZPB2J20-B5

SZPTOC[1J30-B5-A10 116.5 116.5 117 118.5 118.5 119 SZPB2J30-B5

SZPTOC[1J40-B5-A10 152.5 152.5 153 154.5 154.5 155 SZPB2J40-B5

SZPTOC[]J50-B5-A10 162.5 162.5 163 164.5 164.5 165 SZPB2J50-B5
&AL R SZPT2-B5 SZPT3-B5

i s

1
-




%

O FERzwl (C) Olgd: 10, 13, 16, 20, 25, 32

HEO: RiEEsm _-
[0 /43 16|20 || 25 [[32.

- SZPTOC[1J10-04-A10 82.5 82.5 83 84.5 84.5 85 SZPB2J10-04
B SZPTOC[1J10-06-A10 83.5 83.5 84 85.5 85.5 86 SZPB2J10-06
SZPTOC[]J20-04-A10 120.5 120.5 121 122.5 122.5 123 SZPB2J20-04
SZPTOC[1J20-06-A10 121.5 121.5 122 123.5 123.5 124 SZPB2J20-06
SZPTOC[1J30-04-A10 130.5 130.5 131 132.5 132.5 133 SZPB2J30-04
SZPTOC[]J30-06-A10 131.5 131.5 132 133.5 133.5 134 SZPB2J30-06
SZPTOC[1J40-04-A10 166.5 166.5 167 168.5 168.5 169 SZPB2J40-04
SZPT OC[]1J40-06-A10 167.5 167.5 168 169.5 169.5 170 SZPB2J40-06
SZPTOC[]J50-04-A10 176.5 176.51747178.5 178.5 179 SZPB2J50-04

{E SZPTOC[1J50-06-A10 177.5 177.5 177 179.5 179.5 180 SZPB2J50-06
J BB RR SZPT2-B5 SZPT3-B5

R SZPTOC[JJ10-N6-A10 70.5 70.5 71 72.5 72.5 73 SZPB2J10-N6

E} SZPTOC[JJ10-Us-A10 70.5 70.5 71 72.5 72.5 73 SZPB2J10-U6

B SZPTOC[JJ20-N6-A10 108.5 108.5 109 110.5 110.5 111 SZPB2J20-N6

SZPTOC[]J20-U6-A10 108.5 108.5 109 110.5 110.5 111 SZPB2J20-U6
SZPTOC[JJ30-N6-A10 118.5 118.5 119 120.5 120.5 121 SZPB2J30-N6
SZPTOC[J30-U6-A10 118.5 118.5 119 120.5 120.5 121 SZPB2J30-U6
SZPTOC[]J40-N6-A10 154.5 154.5 155 156.5 156.5 157 SZPB2J40-N6
SZPTOC[]J40-U6-A10 154.5 154.5 155 156.5 156.5 157 SZPB2J40-U6

S~ SZPTOC[]J50-N6-A10 164.5 164.5 165 166.5 166.5 167 SZPB2J50-N6
. SZPTOC[]J50-U6-A10 164.5 164.5 165 166.5 166.5 167 SZPB2J50-U6
EELRR SZPT2-B5 SZPT3-B5

O KER (B) Om: 10, 13, 16, 20, 25, 32

SZPTOB[J10-B5-A10 72.5 75 76.5 80 80.5 85.5 SZPB2J10-B5
SZPTOB[]J20-B5-A10 110.5 113 114.5118.5118.5123.5 SZPB2J20-B5
SZPTOB[]J30-B5-A10 120.5 123 124.5 28.5 128.5133.5 SZPB2J30-B5
SZPTOBI[]J40-B5-A10 156.5 159 160.5 164.5164.5169.5 SZPB2J40-B5
SZPTOB[]J50-B5-A10 166.5 169 170.5174.5174.5179.5 SZPB2J50-B5

B AL RS SZPT2-B5 SZPT3-B5
REM: il . omaa
10 13 16 20 25 32

SZPTOBLJJ10-04-A10 86.5 89 90.5 94 94.5 99.5 SZPB2J10-04
‘ SZPTOB[]J10-06-A10 87.5 90 91.5 95 95.5 100.5 SZPB2J10-06
SZPTOB[]J20-04-A10 124.5 127 128.5 132 132.5137.5 SZPB2J20-04
SZPTOB[]J20-06-A10 125.5 128 129.5 133 133.5138.5 SZPB2J20-06
SZPTOB[]J30-04-A10 134.5 137 138.5 142 142.5147.5 SZPB2J30-04
SZPTOB[]J30-06-A10 135.5 138 139.5 143 143.5148.5 SZPB2J30-06
SZPTOB[]J40-04-A10 170.5 173 174.5 178 178.5183.5 SZPB2J40-04
SZPTOBI[]J40-06-A10 171.5 174 175.5 179 179.5184.5 SZPB2J40-06
SZPTOB[]J50-04-A10 180.5 183 184.5 188 188.5193.5 SZPB2J50-04
SZPTOB[JJ50-06-A10 181.5 184 185.5 189 189.5194.5 SZPB2J50-06

EEE R SZPT2-B5 SZPT3-B5




FENC SZPTRF BEARESIRE

HzO: AR - om&A
SZPTOBLIJIO-N6-AI0 74.5 77 785 82 82.5 87.5 SZPB2J10-N6
) SZPTOBLIJI0-UB-AI0 74.5 77 78.5 82 82.5 87.5 SZPB2J10-U6

SZPTOB[]J20-N6-A10 112.5 115 116.5 120 120.5125.5 SZPB2J20-N6
i SZPTOB[]J20-U6-A10 112.5 115 116.5 120 120.5125.5 SZPB2J20-U6

Wi

SZPTOB[]J30-N6-A10 122.5 125 126.5 130 130.5135.5 SZPB2J30-N6

SZPTOB[]J30-U6-A10 122.5 125 126.5 130 130.5135.5 SZPB2J30-U6

SZPT OB[]J40-N6-A10 158.5 161 162.5 166 166.5171.5 SZPB2J40-N6

SZPTOB[]J40-U6-A10 158.5 161 162.5 166 166.5171.5 SZPB2J40-U6

SZPTOB[]J50-N6-A10 168.5 171 172.5 176 176.5181.5 SZPB2J50-N6

SZPTOB[]J50-U6-A10 168.5 171 172.5 176 176.5181.5 SZPB2J50-U6
BELRT SZPT2-B5 SZPT3-B5

_ . om&A
. R e e e e B
%i SZPT OD[]J10-B5-A10 71.5 72.5 76.5  SZPB2J10-B5
: SZPT O D[]J20-B5-A10 109.5 110.5 114.5 SZPB2J20-B5
-g SZPT OD[]J30-B5-A10 119.5 120.5 124.5 SZPB2J30-B5
H SZPT O D[]J40-B5-A10 155,58 156.5 160.5 SZPB2J40-B5
: SZPT O D[]J50-B5-A10 165.5 166.5 170.5 SZPB2J50-B5
I EBLRR SZPT2-B5 SZPT3-B5
HE=M: REELE  omaa
SZPT OD[]J10-04-A10 85.5 86.5 90.5  SzZPB2J10-04
SZPT OD[]J10-06-A10 86.5 87.5 91.5  SZPB2J10-06
SZPT OD[]J20-04-A10 123.5 124.5 128.5  SZPB2J20-04
SZPT OD[]J20-06-A10 124.5 125.5 129.5  SZPB2J20-06
SZPT OD[]J30-04-A10 133.5 134.5 138.5  SZPB2J30-04
SZPT OD[]J30-06-A10 134.5 135.5 139.5 SZPB2J30-06
SZPT O D[]J40-04-A10 169.5 170.5 174.5 SZPB2J40-04
SZPT O D[[]J40-06-A10 170.5 179.5 175.5 SZPB2J40-06
SZPT OD[]J50-04-A10 179.5 180.5 184.5  SZPB2J50-04
SZPT O D[[]1J50-06-A10 180.5 181.5 185.5 SZPB2J50-06
EELER SZPT2-B5 SZPT3-B5
. om&A
SZPT O D[JJ10-N-6A10 73.5 74.5 78.5  SZPB2J10-N6
SZPT OD[JJ10-Us-A10 73.5 74.5 78.5  SZPB2J10-U6
SZPT O D[[]1J20-N6-A10 111.5 112.5 116.5 SZPB2J20-N6
SZPT OD[]J20-Us-A10 111.5 112.5 116.5 SZPB2J20-U6
SZPT O D[]J30-N6-A10 121.5 122.5 126.5 SZPB2J30-N6
SZPT O D[[1J30-U6-A10 121.5 122.5 126.5 SZPB2J30-U6
SZPT O D[]J40-N6-A10 157.5 1568.5 162.5 SZPB2J40-N6
SZPT O D[]J40-Us-A10 157.5 158.5 162.5 SZPB2J40-U6
SZPT O D[[]1J50-N6-A10 167.5 168.5 172.5 SZPB2J50-N6
SZPT OD[]J50-Us-A10 167.5 168.5 172.5 SZPB2J50-U6

EBLER SZPT2-B5 SZPT3-B5



SZPTR5 wFERARAEZNE

© SZPB3EEHRTMOEAZL

BExO: Wy
—---_-
SZPB3J10-B5 M5 x 0.8 77
o SZPB3J10-B01 RC1/8 78.5 62 12
SZPB3J20-B5 M5 x 0.8 81 72 10 50
o SZPB3J20-B01 RC1/8 84 72 12
SZPB3J30-B5 M5 x 0.8 91 82 10
SZPB3J30-B01 RC1/8 94 82 12
B SZPB3J50-B5 M5x0.8 136 127 10 5
© ﬁlj Ak g SZPB3J50-B01 RC1/8 139 127 12
o4 | (t=0.5)
M8x1.25

H=M: fREELE

SZPB3J10-06 6

SZPB3J10-08 78.5 62 8 14
SZPB3J20-06 81 72 6 12 50
SZPB3J20-08 84 72 8 14
SZPB3J30-06 91 82 6 12
SZPB3J30-08 94 82 8 14
SZPB3J50-06 136 127 6 12 75
SZPB3J50-08 139 127 8 14

H=QO: M3

SZPB3J10-N6

SZPB3J10-U6 78.5 62 4.95
SZPB3J20-N6 81 72 4.5
SZPB3J20-U6 84 72 4.95 50
SZPB3J30-N6 91 82 4.5
SZPB3J30-U6 94 82 4.95
SZPB3J50-N6 136 127 4.5 75
SZPB3J50-U6 139 127 4.95

H=O: ALY

. om&A

o405
SZPTOULIJ10-B5-A14 109.5 111 SZPB3J10-B5
SZPTOU[1J10-B01-Al4 110.5 112 SZPB3J10-B01
SZPTOU[1J20-B5-A14 113.5 116.5 SZPB3J20-B5
SZPTOU[J20-B01-Al4 114.5 117.5 SZPB3J20-B01
SZPTOU[1J30-B5-A14 123.5 126.5 SZPB3J30-B5
SZPTOUIJ30-BO1-Al4 124.5 127.5 SZPB3J30-B01
SZPTOU[J50-B5-A14 168.5 171.5 SZPB3J50-B5
SZPTOU[1J50-B01-Al4 169.5 172.5 SZPB3J50-B01

A5 SZPT4-B8




SN SZPTRS SRR AR

BH=[O: R

SZPT OU[JJ10-06-A14 129.5 130.5 SZPB3J10-06
SZPT OU[]J10-08-A14 135 136 SZPB3J10-08
SZPTOU[]J20-06-A14 124.4 125.4 SZPB3J20-06
SZPTOU[]J20-08-A14 129.4 130.4 SZPB3J20-08
SZPT O U[]J30-06-A14 134.4 135.4 SZPB3J30-06
SZPTOU[]J30-08-A14 139.4 140.4 SZPB3J30-08
SZPTOU[]J50-06-A14 179.4 180.4 SZPB3J50-06
SZPT OU[]J50-08-A14 184.4 185.4 SZPB3J50-08
BB AR SZPT4-B8

SZPTOU[]J10-N6-A14 113.5 114.5 SZPB3J10-N6
SZPTOU[J10-Us-A14 113.5 114.5 SZPB3J10-U6
SZPTOU[J20-N6-A14 116.5 117.5 SZPB3J20-N6
SZPT OU[]J20-Us-A14 116.5 117.5 SZPB3J20-U6
SZPT OU[]J30-N6-A14 126.5 127.5 SZPB3J30-N6
SZPTOU[J30-Us-A14 126.5 127.5 SZPB3J30-U6
SZPT OU[]J50-N6-A14 171.5 172.5 SZPB3J50-N6
SZPT OU[]J50-UB-A14 171.5 172.5 SZPB3J50-U6
& il 2% SZPT4-B8
...... RN (C) OMRE: 40, 50
BHEO: R
. om®&A
.40 50
SZPTOCLIJ10-B5-A14 109.5 111 SZPB3J10-B5
SZPT O C[]J10-B01-A14 110.5 112 SZPB3J10-B01
SZPT O C[]J20-B5-A14 113.5 116.5 SZPB3J20-B5
SZPT O C[]J20-B01-A14 114.5 117.5 SZPB3J20-B01
SZPT O C[1J30-B5-A14 123.5 126.5 SZPB3J30-B5
SZPT O C[JJ30-B01-A14 124.5 127.5 SZPB3J30-B01
SZPT O C[]J50-B5-A14 168.5 171.5 SZPB3J50-B5
SZPT O C[]J50-B01-A14 169.5 172.5 SZPB3J50-B01
pER e SZPT4-B8
HO: fRiEELE
. om&A
40 50
SZPT O C[]J10-06-A14 129.5 130.5 SZPB3J10-06
SZPTOC[]J10-08-A14 135 136 SZPB3J10-08
SZPT O C[]J20-06-A14 124.4 125.4 SZPB3J20-06
< SZPT O C[1J20-08-A14 129.4 130.4 SZPB3J20-08
SZPT O C[]J30-06-A14 134.4 135.4 SZPB3J30-06
SZPT O C[]J30-08-A14 139.4 140.4 SZPB3J30-08
SZPT O C[]J50-06-A14 179.4 180.4 SZPB3J50-06
SZPT O C[]J50-08-A14 184.4 185.4 SZPB3J50-08

EBLRR SZPT4-B8



SZPTERS| SEhMETRE 00

B0 FER

SZPTOC[]J10-N6-A14 113.5 114.5 SZPB3J10-N6
SZPTOC[]J10-Us-A14 113.5 114.5 SZPB3J10-U6
SZPT O C[]J20-N6-A14 116.5 117.5 SZPB3J20-N6
SZPT O C[]J20-Us-A14 116.5 117.5 SZPB3J20-U6
SZPT O C[JJ30-N6-A14 126.5 127.5 SZPB3J30-N6

< SZPT O C[]J30-Us-A14 126.5 127.5 SZPB3J30-U6
SZPT O C[[]J50-N6-A14 171.5 172.5 SZPB3J50-N6
SZPT O C[1J50-UB-A14 171.5 172.5 SZPB3J50-U6

S AR SZPT4-B8
O MER (B) Omk#R: 40, 50
S om&A
. 40 50
SZPT OB[]J10-B5-A14 125 126.5 SZPB3J10-B5
SZPT OB[]J10-B01-A14 129 130.5 SZPB3J10-B01
SZPT OB[]J20-B5-A14 129 132 SZPB3J20-B5
SZPT OB[]J20-B01-A14 133 136 SZPB3J20-B01
SZPT OB[]J30-B5-A14 139 142 SZPB3J30-B5
SZPT OB[]J30-B01-A14 143 146 SZPB3J30-B01
SZPT OB[]J50-B5-A14 184 187 SZPB3J50-B5
SZPT OB[]J50-B01-A14 188 197 SZPB3J50-B01
& it 2% SZPT4-B8

BH=M: PRk

SZPTOB[1J10-06-A14 145 149 SZPB3J10-06
f‘% SZPTOBL1J10-08-A14 150.5 154.5 SZPB3J10-08
—_ SZPTOB[1J20-06-A14 139.5 143.9 SZPB3J20-06
T [T SZPT OB[1J20-08-A14 144.9 148.9 SZPB3J20-08
: Iril SZPT O B[1J30-06-A14 149.9 153.9 SZPB3J30-06
= 4 SZPTOB[1J30-08-A14 154.9 158.9 SZPB3J30-08
’ [ SZPT O B[1J50-06-A14 194.9 198.9 SZPB3J50-06
SZPT O B[1J50-08-A14 199.9 203.9 SZPB3J50-08
B RS SZPT4-B8
HEM: FgR
. om&A
3 .40 50
E SZPTOBL]J10-N6-A14 129 133 SZPB3J10-N6
= SZPT OBL1J10-Us-A14 129 133 SZPB3J10-U6
L SZPTOB[]J20-N6-A14 132 136 SZPB3J20-N6
T SZPTOB[1J20-Us-A14 132 136 SZPB3J20-U6
1 < SZPT O B[1J30-N6-A14 142 146 SZPB3J30-N6
- ‘ SZPTOB[1J30-Us-Al4 142 146 SZPB3J30-U6
‘ SZPTOB[1J50-N6-A14 187 191 SZPB3J50-N6
SZPT O B[1J50-Us-A14 187 191 SZPB3J50-U6
B RS SZPT4-B8



FENC SZPTRF BEARESIRE

)R8 (D) Omgid: 40

HE=O: NBY
ws A gwEm
SZPT40D[1J10-B5-A14 120 SZPB3J10-B5
SZPT40D[1J10-B01-A14 121.5 SZPB3J10-B01
SZPT40D[1J20-B5-A14 124 SZPB3J20-B5
SZPT40D[1J20-B01-A14 127 SZPB3J20-B01
1 SZPT40D[1J30-B5-A14 134 SZPB3J30-B5
iU SZPT40D[1J30-B0O1-A14 137 SZPB3J30-B01
= SZPT40D[]J50-B5-A14 179 SZPB3J50-B5
6 SZPT40D[1J50-B01-A14 182 SZPB3J50-B01
T SZPT4-B8

H=0O: RiEsELE

SZPT40D[1J10-06-A14 140 SZPB3J10-06

SZPT40D[1J10-08-A14 145.5 SZPB3J10-08

SZPT40D[1J20-06-A14 134.9 SZPB3J20-06

SZPT40D[1J20-08-A14 139.9 SZPB3J20-08

SZPT40D[1J30-06-A14 144.9 SZPB3J30-06

‘\" SZPT40D[1J30-08-A14 149.9 SZPB3J30-08

:: SZPT40D[1J50-06-A14 189.9 SZPB3J50-06

SZPT40D[]J50-08-A14 194.9 SZPB3J50-08

b PV SZPT4-B8

®s A mEEE

bl R SZPT40D[1J10-N6-A14 124 SZPB3J10-N6

SZPT40D[]J10-U6-A14 124 SZPB3J10-U6

ﬂﬁ‘ SZPT40D[1J20-N6-A14 127 SZPB3J20-N6

i% SZPT40D[1J20-U6-A14 127 SZPB3J20-U6

%% SZPT40D[]J30-N6-A14 137 SZPB3J30-N6

E SZPT40D[1J30-U6-A14 137 SZPB3J30-U6

? < SZPT40D[1J50-N6-A14 182 SZPB3J50-N6

1 SZPT40D[]J50-U6-A14 182 SZPB3J50-U6

P SZPT4-B8

( o



	1: FB真空过滤器
	2: FC真空过滤器
	3: VP系列单向阀
	页 4
	页 5
	页 6
	7: SZP真空吸盘
	页 8
	页 9
	10: SZPT不带缓冲
	页 11
	页 12
	13: SZPT带缓冲
	页 14
	页 15
	页 16
	页 17
	18: SZPR不带缓冲
	页 19
	页 20
	页 21

